B g H
BRAEXEEFH - ALBIT—ERX

THREBS|EEEF 245 ANBRUEZHD A X fERBmF AN
2o X R e A # & A B TAE314F4F 248
Blﬁii’%’%ﬁ%zﬁiiﬁﬁyu»—m@% 2 ¥ & A H ER31E4H24H

=] ER31E4H24H ¥ T % 1,130,760 M
=
T-#A
R

ES ERk324E3A31H 2 #H = % 1,028,160 M

E 2B (FE3E)

RV OREE—RK

2% 0| BT-FEER 83204m. BE-BEFH 827.16m. FHH-EHF 197.70m
B E-HSRKEHEE—FK
FILIHF  140.00m . E@EERSH 512.00m
RIBEA TR (F1ED2BEBRT .. REE
AW £ E (FA)
BRAANES EE XA . e e
=10 = 2[a] = XC] 1 R PR o,
3003 |=#AlH 1,050
UHFN )= & —
3469 A 1,120
3580 |U—AFLHD 952 &AL
3728 |t 1,040
3805 |FEiE E/LEERIK 1,080

9:27




BEE2EXEEFHE-ALMIT—ERX
THEES | EHEFEIS ANBRUEZHD A X fERBmF AN
5o X Bl A inaEEs (A L £ A B FHI1E4F 248
Blﬁii%;%kﬁiiﬁﬁ‘/vﬂ—m“)%o 2 ¥ & A H ER31E4H24H
=] ER31E4H24H ¥ T % 1,870,268 M
TE-ff
T-#A
R
ES ERk324E3A31H 2 #H = % 1,869,480 M
(% OAZRY)—=27 =K (F2[E) 1,153m
B E(R%xEJVOREEITF(E6E)  3297Tm
AW £ E (FA)
BRAANES EE XA . e e
=10 = 2[a] = XC] 1 R PR o,
3003 |=#AlH 2,000
IHEF X 7)) —&E—
3469 ST g 1,995
3580 |U—AFLHD 1,731 &AL
3728 |(WR> v 1,855
3805 |FEiE B /LA RN 2,000

9:32




HAEEE-ALBMIT—

g

EHEEZS | HEF2 5 ANBRUEZHD A X fERBmF AN
%%@fﬁigﬁ%g;ﬁﬁw A f & A B TR3144 8240
Blﬁii’%’;%@ﬁiﬂéﬁy&—msﬁ@ Z % & B A ERE314E4H 248

=] ER31E4H24H ¥ T % 997,920 M
-
T-#MA
R

ES ER32%E3A19H 2 H € £ 987,120 M

EEFEE S

A—RYbRF—Lig% £30 -HSRER F20
RoA—-UVT RRU—NER &4F20
FIFAVREHLOV) =T ETHOTES— BT ER FF1H

THEMNRERELL 24—
RRY—ME% F3E -AS5R9Y—=1 &2[H

¥ 7 D-h—Rub HBI)—=2F £F1E
-
THEAEARSE
HSRHY—=2 2@ -ERV—NER 430
H—RyhER &£20
#E D ER—L
CERY—k h—Ryk, KBS LRSS SE3E
HSRER F2E -MERVTER £16E
A# £ 2B (FH)
EPN BEXIIE . e e
=1E 20 F3E | . mmmEacEALS)
3003 | =#AK 950
JR2FXe g —0&F—
3469 D7 g 985
3546  |REHA 952
3728 |t 2,248
3805 |VHIE EVEELRR 914 EHL
9:38




B g H
BEE2EXEEFHE-ALMIT—ERX
THEBS|HFEF42 5 ANBRUEZHD A X fERBmF AN
%%@ff%’{Piﬁfﬂb@ﬁ%%ﬁ)\ L &£ B B ERE314E4H 248
TEEF- WA NS/ R (e )
Bﬁﬁig_ﬁﬁi& FH - WM ERRERER 8 & B B ER31E4H24H
8 ER31E4H24H ¥ T 884,331 H
TE-ff
T-#A
R
ES ER31E6H30H 2 #H =€ % 712,800 H
m D olmmN T — LR
AW £ E (FA)
BRAANES e XITXEZ e e pose
10 2 =3 <%#L-%ﬁ§fﬂ1ﬂﬁ§*ﬁ)\ﬂ%>
3003 |=#AlH 820
3173 |(WR P B ik 5 660 &AL
3805 |FEiE E/LEERIK 1,000

9:43




BEE2EXEEFHE-ALMIT—ERX
THREZES|HREFELS ANBRUEZHD A X fERBmF AN
P TR XL VERERRRREEA 1 £ B B TRE31EE4 24
Blﬁii’f;’iﬁ%/w:%& 2 ¥ & A H TER31E4H248
=] ER31E4H24H ¥ T % 14,158,800 M
TE-ff
T-#A
R
ES ER31EIA30H 2 #H = % 9,590,400 H
m D OlREE R 2RI A CEMRE
AW £ E (FA)
BRAANES EE XA . e e
=1E 20 = XC] 1 R PR o,
3162 |EERS oY% MR 8,880 &AL
3285 |(H)FERRE 9,950
3311 ;%EIKZ% =N A 16,900
3690  |(WRAREEE EIMFIT AT 9,450
3711 |REFIREX 10,580
3798  |WRfE K EEH AT 11,000

9:51




HEXE - ANLBRIT—ER

EHREBES|HALFE 125 ANBRUEZHD A X fERBmF AN
§$%§§§§%§ﬁ”y%@%@%ﬁl . £ B B TER31E4H 240
Blﬁii’f;’iﬁ«ﬂ%%ﬁﬂm 2 ¥ & A H TER31E4H248

=] ER31E4H24H ¥ T % 1,331,000 M
TE-ff
T-#A
R

ES ERk325E3A25H 2 #H = % 1,078,000 M
% 38 QIR R—YHERERTE
B E| A4 #H50E

AW £ E (FA)
BRAANES EE XA . e e
=10 = 2[a] = XC] 1 R PR o,

W=~V —F k>

3107 |~ 1,550
3336 |(RANAEE 1,100
3767 4B 980 &AL

9:56




BRAEXEEFH - ALBIT—ERX
EHRREBS|HFAWES & ANBRUEZHD A X fERBmF AN
v T FRBIRE N T OV ERR
%%@ %ftﬁd\%&/\/n‘/%&%ﬁﬁﬂyﬂl L &£ A H TR31E4R24H
S NL e v s
TEIGF - - FH PR, A ) T e
W 17 1B FR|IL - TR - TR 2 #H £ A B 31448 246
=] ER31EIRATH ¥ T % 1,149,950 M
=
T-#A
R
ES ERk37ESH31H 2 K € #H 1,103,328 M

R G- EH) BB E B/ \VaV R RN
NER(AEBIL-TZE-TI) /N\YVIVRER/ NIV EE
(A BAEE234EDIIHE IR HHEZEY)

HAARS

s XIEE

A& &E (H

%1 IE %2@ %3 EI (%#L-i’aﬁ#l?ﬂﬁ‘ﬁ%ﬂﬁﬁ)\*L%)
3070 |R=7 U 1,059,800
3255 [ HAVI AT A 1,021,600 &AL
3337 |HEREER 1,308,700
3515 |7 7 ad@fE 1,275,900
3698 | NARX—T LA 1,123,800

10:03




ER2FEFFHE-ALBIT—ER

HipEEslewEise ARLBRUZHOHE 2B S AL
o B BT A T S AL £ A B FHR31454H248
ﬁlﬁi*’f;’f,ﬁ HEHE T AT 2 #% £ B B FH3144 8 24H

B FEri31E6A1H ¥ T % 173,571 H
TE-1
T-#A
8 R

ES ER384E5H31H 2 #H £ % 105,840 M

X B 0BBRBHEEEN 1138

B B EAEE234EDIIE IR PG 2H)
} AF £ &8 (M)
e AR %?R‘i% ﬂ‘ %‘-1 IE %2@ %3@ (%#L-i’aﬁﬂ?ﬂﬁﬂﬁ%‘ﬁ)\ﬂ%)
3076 | RE TR 98,000 AL
3154  [TPERE T AT A 9,298,800
3515 |7 7 (G 133,000
3648  [HHHFIEF T AT A 10,000,000
3774 | HSHEIY 159,600

10:10




HEXE - ANLBRIT—ER

EHREBS|HWF6E ANBRUEZHD A X fERBmF AN
2o X T aBE A F B B TRE31EE4 24
I$i§7ﬁﬁ' Vg = 7 7 6
B,ﬁﬁig_ﬁﬁzﬂ@%m«ﬁwxnﬁ 2 N & B H ER31E4H24H

=] ER31E4H24H ¥ T % 42,988,000 M
-
T-#MA
R

ES ERk32E3IA19H 2 #H = % 39,710,000 M

*%% & ol T BB (cD-12)

AW & &8 (FH)

e AR %?X li% ﬂ‘ % 1 IEI %2 IEI %3 IEI (%#L-i’iﬁﬂ?ﬁ{ﬂﬂﬁﬂiﬁlﬂ%)
3031 |[N=Fimi= 38,000
3051 |7y 36,500
3260 | L 37,500
3471 | BT E 36,700
3499 |l A1 THEs 36,100 AL

10:16




BEE2EXEEFHE-ALMIT—ERX

EHREBS|HWFE S 5 ANBRUEZHD A X fERBmF AN
2o X s pE A A &£ A B TR31F4F 24
I$%Fﬁ' N/ E T R Vo =AE NI
Bﬁﬁig_ﬁﬁ«ﬂy%m«ﬂ{%wmlﬁm 2 ¥ & A H TER31E4H248

=] ER31E4H24H ¥ T % 6,584,760 M
TE-ff
T-#A
R

ES ER314E108308 2 #H = % 6,480,000 M

=B Dlmror BRI AHA

AW & &8 (FH)

?E g Ag? Piﬁ?x li% ﬂ‘ % 1 EI %2 EI %3 IEI (%#L-i’iﬁﬂ?ﬂ{mﬁﬂiﬁkﬂ%)
3051 |7y 6,500
3260 (&L 6,200
3499 (R A1 THBS 6,000 AL

10:20




BEE2EXEEFHE-ALMIT—ERX

EHREZS|LTHE1 5 ANBRUEZHD A X fERBmF AN
2o IR N TE (A AL & B B TRE31EE4 24
I$i§‘ﬁﬁ' e = Y =D \IZ (6
Bﬁﬁi,z_ﬁﬁ{ﬂiﬁ%m(ﬂ(%lﬂT&ESS:ﬂél 2 N & B H ER31ESATH

=] ER31ES5ATH ¥ T % 141,669,000 M
TE-ff
T-#A
R

ES ER314E12H208 2 #H = % 128,189,600 M

= B OlErmms st KU I E25m T4 T 1 400mDIRS 3 FHEMI THE1TS

AW & &8 (FH)

e AR %%X li% ﬂ‘ % 1 IEI %2 IEI %3 IEI (%#L-i’iﬁﬂ?ﬁ{ﬂﬂﬁﬂiﬁlﬂ%)
142 [T HIAKER 128,000
344 [SRIMEERIRH IR
389 |W=ARv IR 116,536 AL
407 (A 7 =2 7 Hiok 122,000
952 (A< 122,780
1295 |(WRJSL FH B SRR 26T 132,100

10:33




BEE2EXEEFHE-ALMIT—ERX
EHREEZS| LKEFEL-15 ANBRUEZHD A X fERBmF AN
Foo X Bl () TE A AL £ A B 31445248
ﬁlﬁii’%’;;ﬁ Vi T T P 2 #H £ A A Tr3144824R0
=] ER31E4H24H ¥ T % 1,843,600 M
TE-ff
T-#A
R
ES ER3252H14H 2 #H £ % 1,732,500 M
# 25 0 =/KFEE
o g-dns 6781 -¢20 518 -¢40 1{@ -¢@50F 1{&
=t 731{E
AW £ E (FA)
BRAANES EE XA . e e
=1E 20 = XC] 1 R PR o,
235 (BT ZERE)S 1,625
754 B fE L2 1,640
766 |E ORGSR R 1,650
874 |BREJI= 1,640
1203  |BREHF0 1,575 &AL

10:36




HAEEE-ALBMIT—

g

THEBS|ETHELS ANBRUZHDOAEZFREEREZGHE—RHEFALL
L 23| e 5 s T B X
%%Efwg;%ﬁ%my%% ﬁﬂm’:&%l i = A H ERE31 4 H24H
Blﬁii’%’%ﬁ%?@%%ﬁﬂm @ 4 & A H TR314E5H 7H
=] ER31ES5ATH ¥ T % 21,016,600 M
TE-fE
T-#MA
R
ES ERk324E1H 248 2 #H = % 19,800,000 M
RS (RS ER) TS
R
iﬁgggﬁ Vé/ﬁzz,seoﬁ\ﬁ;&n A=63,000m
35 | JELS Wil
kB ER 2 1=36,500m
B B gmmam
HWERE L=11.0km. AN 7;E7 L=1.56km
B R
TEURRSERE V=5Tm
A#H £ %E (FH)
BEREES BB XA e e e
=10 = 2[a] = XC] 1 R PR, o,
107  |WRIRETE 18,500
110 |WRWE T8s)5 18,600
821 WA AL 18,000 &AL

10:40




B g H
BEE2EXEEFHE-ALMIT—ERX

THREBS|ETHES ANBRUEZHD A X fERBmF AN
%%@fﬁi@fﬁgﬁﬁﬁg%{m%l i & A A ERR314E4A24R8
%iiﬁiﬁ{fﬁﬁﬁ“ﬁm&% SR 4 &2 B B TR314E5H 7H

=] ER31ES5ATH ¥ T % 5,797,000 H
TE-ff
T-#A
R

ES ER31E11H298 2 K € #H 5,632,000 M

XHOD

FRET ¥ A=34,200m
EIRBRET (FREBHLER)

6,450m x 2[@=12,900n

EERPRE T (FRAELRH L)

9,520m x 2[@=19,000n

EERPRE T (FRELRH L)

2,300m x 1[@=2,300n

(SICRE#)
i } . AW =E 8 (FH)
R ANES BB XILL R s1m | 2@ | ®m3@ <$§$L-§1&J’Eﬁﬁ%sﬁ5m7ﬁ>
226 |(HPE R 5,250
656 |1l 5,180
660 | MR 5,120 &AL
810 | THIE iR

10:41




B g H
BEE2EXEEFHE-ALMIT—ERX
THREHZBS|ETHEIS ANBRUEZHD A X fERBmF AN
§$%§§”$m§$¥ SHIAEUE . 1 & B B T RE314E4 8248
I$iﬁﬁﬁ' == NG = * 7 B
ﬁ,ﬁﬁiﬁ,,ﬁ«ﬂy%m@;am,m%m 2 ¥ & A H ER31IES5ATH
=] ER31ES5ATH ¥ T % 6,495,500 F
TE-ff
T-#A
R
ES ERk32E3A13H 2 K € #H 6,160,000 M
MIER L=33.0m
2 2 ) iR ERET
& = #IJOv BT A=68m ., Xixar¥')—k L=40m
HEEa 49—k L=40m K0T N=1x® FKET N=1=
av9)—kEL  N=1X
AW £ E (FA)
BRAANES EE XA . e e
=1E 20 = XC] 1 R PR o,
226  |(RFEI RN 5,850
446 FH HREL R 5,600 &AL
656 (L) AR ) 5,800
660 |(FRIH AR 5,760
810 |EAJRIHIL TR

10:43




B & A
BEE2EXEEFHE-ALMIT—ERX
HHERS|(EZES & ALEBUVEZHDF X B2 FEE AL
() A~ — R 1 CT 7
F R R B ER e RS EEA L & A B T R34 F 248
R E =
I$i§7ﬁﬁ'/~ b i e = 7 56
Bﬁﬁig_ﬁﬁ«ﬂiﬁ%m@;amﬁﬁam 2 ¥ & A H TER31E4H248
8 ER31E4H24H ¥ T % 2,686,200 M
-
T-#MA
R
ES ER31E11H298 2 #H = % 2,310,000 M
¥7ER L=80.0m
¥ 7% 0| BREFMIEIESET N=1z
B E| BFREEHZEERMER N=1X
HECBREER N=3 &
A#H £ %E (FH
RN EHEXITXEH e . e
=10 2 X ] 1 R PR o,
2029 |7 A =2 2,442
2098 |[KH= P L% MK 2,442
2278 |thde=m YLz VK 2,100 &AL

10:45




